SN TIE

TN PN

N mannm "un1 annm

BN N'a



S 4

miannn Mwn
0T NIN'baNIl

”.
T

D"BTIND™IN 19 T nmw

T YD) | TnneT AN M T e e 0

inin 33% | (T113) 26 T 18 X701 D'

il 50% | MINXT DY X311 7200 0 BN

® @®© @ @

il 50% | 15 PTTINY 718V

NN T



oo DTI0 0N W0 TN AIAAA TIOT
MIBK1T

XTI IN'®0 130,07

- TN oM mw @n o

(1994) 110, 01NIBN 07N 07 pnT OXnnl *




INNET IMBXTM 01 MK 1w oM

BRI = 931701
o W0 @QD}

‘{ X BTN WA 1 MIX'BTIN 'BAm
DITIN (1 MX111°7 40)

255 01N

BB (5w
W0 s

'IE‘GI'I_'llj} I]ull]ﬂ] a

MININBN'WIN'PIN - NININBNYTN'PIN - 1137 1080 BTN B
710 X171 (" 75) (1" 40)

0

m7yunn




INNET IMBXTM 01 MK 1w oM

W 2.700 &5 1,188 <>
4 Y 001 "M 1300 ©)
‘( X "MITIN "IN 1 NN DTN "WaIn
DITIDIN (1 7MIX2 0" 40)
W7320 me Y 4920 == YW 3,060 ¢
‘H]I!J7ll]|]n % ‘H]lJJ7]I]Un % ‘H]DJ1IIJUH ' '
MNINUNWTIN™WAN NININBAWTNWAN - 11700 'UTIN 'wan
N Xn (n"p75) (0" 40)

W 7,320-1 T 1,188 17005

m7yunn




0" TPD7 T 2'XA Inmm ax oI

01 YD) m/omen n/or by @
NIUREUIE MXT MW 1Mo

VIXAIM 731 iR By @
i 33% (17113) 26 - 18 T\

NI 50% p
WTIN-WINT 1Y T WIITe ' @

A 33%-50% —
WTIM-"In1l 11¥ 1yl IR ,ﬁ, ]©




(1713) 26 TV 18 'XT11

L ad
r




111111111111

nﬁ

S

1 X 'OTIN "BaIn

255 0 (ﬂﬁ
m170.85 €

131 17180 'BTIn "wam
("0 40)

= (1713) 26 - 18 'V
RIS o=, 9801
i 150.75 1 66.33

VX 'WTIN AN
DIIDIX (1 7MX1n"p 40)
BEHIIN o o= R DIN]
( pasn0 2E N pon Qe
£ 1137 1100 "WTIN 'Wam MmN 17w "WTIN 'wam
721 K71 (n"p 75)

m7mn"



n'nnnln-m.‘ il

(1113) 26 - 18 0'7'DX

89 &0 w392

MW 10 MW 10 @

VX 'WTIN WA 1 TN "0TIN 'Bam
DIIDIX (1 7MX2IN"na0)

2,415

~ Y J130n
A 0331 17180 "BTIN A

W 1,627 e W 1,010 2

Tw 130 mumn =
131 1780 "UTIN 'BAm 1131 17180 "7 "BAn

W 2,415-1 v 392

m7mn"



1110 50%

N Y



110N X7 113 N0

8 1-5 IMNIKY 1MI"A ®




—— 1 -5 MITIX" 1M79"70
225 min1 -33-mpm
W 112.5 . Wl 49.5 @{“5)
X "UTIN WA 1 TITX "WTIN "BAm O
DIIDIX (1 MX1 07 40)

o @S

255001 GO

BEHIIN = =
w5 A

ININENUTN'EAN  nINInenwInwan 0 Ingn wimwan
7201 K77 ("1 75) (0" 40)

w25 S A w175

m7yin 1



minnhnT ’ XX MY

Ny anann7

1-5 IMIIK" 1 19Ha

1,350 g7 YW W59 S
'n]m'lllun MW 130N @
WX 'WTIN WA 1 X BTN 'BAm
DIIDIN (1 MNX1 077 40)

W 3,660 @en)y M 2,460 22§ W1530 &2

My ﬁ Y 1 (e I 00
ININENPIN'EAN - nNNINNwIn'wan 013 1nen 'wnin 'wan

720 X771 (" 75) (" 40)

[ 3,660-7 W 594

m7yin 1



D o=

g'pi o'ix
— ] ]
I]] “ ““ “] <§=' (67 710 0M111 ,62 1N I'B])
1- 5 INJWI 'aan mmana
""]" 5“% N1 MNPX-1"I0 I 7001 70
YAXi 731 i

N1 50% <% (&7 ™nom 62 790 0'W0) 0P MVER

DM N0 <% 75 ™ 0 09m eI

]]]]]]]]]

TP



D ==

mnnnn Twn g
DT NINDANI murY mianny

]|



